T 4 FERSFRBIRHERDEMIANR

# 1 [SPIHFA] RERBKOHE

es e | LRRBERER | 2w | 2hs | 1A% | 2 kil | AT EARER | akan| amEn
o A 2% G| k) | ek | arE Bt i A
FHEHA 118 131 53 78 40 28 18 8 10 13. 7%
Hiffi (A 8 8 7 1 6 4 2 2 0 25. 0%
Hofli (R&R) 3 3 3 0 2 2 2 0 66. 7%
X 10 10 0 10 7 5 1 0 1 10. 0%
PRbERl (R 3 3 0 3 1 1 1 0 1 33. 3%
&t 142 155 63 92 56 40 24 12 12
#2 [—FRN] BKABRERE
e o | LRRBEBRER | 20w | 20 | 1 RAR | 2 kil | AT EARER | akan| amEn :
W A S a3 o | G0 | ekE | ek at | | BEE
HHE 133 79 45 34 28 19 19 10 9 24. 1%
Bl (£A) 10 9 7 2 8 6 6 4 2 66. 7%
Heflr (FER) 1 0 0 0 0 0 0 0 0 -
el %1 4= 99 64 59 5 16 9 9 8 1 14. 1%
rE+ 36 33 2 31 25 17 17 1 16 51. 5%
BEL (RERE) 2 1 0 1 1 1 1 0 1 100. 0%
Gk 281 186 113 73 78 52 52 23 29
#3 [BEEXNR] BREBROKE
" e | 1 RRBRTBREBR | 2 | 25 | LR | 2 kat B | ST EASHER | ok | oxE :
oA A H et ) () | ek | oE at | () | A
ERIE 2 0 2
10 11.5
(E AR 31 26 10 1 8 1 0 ] %
&t 31 26 16 10 4 8 3 0 3
#4 [RECERBRESNR] BEKABREEE
~ o | 1 RRBSBRES | T | mmas | 1 a8 | 2wk | RMTEAREL | otk | e :
e ik I O | G0 | ek | A A Gy | o | AR
T (TE %) 34 34 29 5 11 8 7 6 1 20. 6%
1 (R 0 0 0 0 - - - - - -
5 (FE®) 2 2 2 0 2 1 0 0 0 0. 0%
Heffi (+A) 2 2 2 0 2 2 1 1 0 50. 0%
Hiffr () 4 4 4 0 3 2 2 2 0 50. 0%
Hilr (H - BR) 1 1 1 0 1 1 1 1 0 100. 0%
&3t 43 43 38 5 19 14 11 10 1



